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General Instructions:

1. All questions are compulsory.

2. The question paper consists of 31 questions divided into four sections A, B, C and
D. Section-A comprises of 4 questions of 1 mark each; Section-B comprises of 6
questions of 2 marks each; Section-C comprises of 10 questions of 3 marks each
and Section-D comprises of 11 questions of 4 marks each.

3. There is no overall choice in this question paper.

4. Use of calculator is not permitted.

@UE-31 / SECTION-A
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Question numbers 1 to 4 carry one mark each

1 ADEW, ¥ AB/EW 1 3f€ AD =4 cm., DE = 12 cm. 941 DW = 24cm &, & BD &1 W 3@ &ife| 1

In ADEW, AB// EW. If AD =4 cm, DE =12 cm and DW =24 cm, then find the value of DB.

2 APQR®, /P=60, /Q = 90 3KPR = 15cm &1 PQ 31 e | | 1
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InAPQR, ZP = 60, 2Q= 90 and PR = 15 cm. Find PO

2
3¢ /3 sinu = cosu g ar Scos™ut 2c0su

3cosut 2

3cos?ut 2
If V3 sinu = cosu , find the value of M .

3cosut+ 2

4 1 Afefed saiara s § a0t @ it -

1 T 14 Hifeg |

frate @9 gaaia | 1400- 1550-1700 | 1700-1850 | 1850-2000
= = 1550
TR aig A |8 15 21 8

From the following frequency distribution, find the median class :

Cost of IiVing 1400- 1550-1700 | 1700-1850 1850-2000
index 1550
Number of weeks | 8 15 21 8

EUS-9 / SECTION-B

THE AS5T10H TS & 2 3% £
Question numbers 5 to 10 carry two marks each.

SET7T ¢

5 %mmmmmﬁmﬁﬁlmmaﬁmaﬂwwmmmﬁwﬁ
gl

Find the least positive integer which on adding 1 is exactly divisible by 126 and 600.

6 mﬁﬁqﬁhw%nﬁmmmwﬁm%mnwm# T2

Check whether 4™ can end with the digit 0 for any natural number n.
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If o and B are the zeroes of a polynomial x2-4./3 x+ 3, then find the value of a+ B-af.

8 e ABC &) SIS AB 71 AC W HAY: fag X 991 Y 39 Wb feeyd & fin %?%,Aﬁzm 3

qU YC= 6cm €| 9T XY/BC © A1 7 |
X and Y are points on the sides AB and AC respectively of a triangle ABC such that —j% :%,

AY =2cmand YC =6 cm. Find whether XY// BC or not.

AY - = M
AC N4

9 fag =ifsm
(I'f-'sinzA) Dﬁ_y_6 = g
-y = cotA
Sl x 2 -
Prove that — - e
ove at -
Y
(]’-—sinzA)
= cotA
sinA
10 f1 Afafed 927 & fog wreg 9 Hife 2
T aua 0-6 6-12 12-18 | 18-24 24-30
FRERAT 5 4 1 6 4

Find the mean of the following distribution :

Class interval 0-6 6-12 12-18 18-2:4 24-30

Frequency 5 4 1 6 4

@US-H / SECTION-C
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12

13

14

S&.

Question numbers 11 to 20 carry three marks each.

m%mmwﬁ%ﬁmaMmmamnmmm%,wﬁﬁmmm%: 3

Show that the square of any positive integer is either of the form 3 m or 3 m+ 1 for some
integer m.

x Tl y % foa &t Fifery : \/ | 3

e al
Xl yl 2

6 - ,3

— 1

Solve for xand y :

T T5¥Il SR I HI 5 et 1 4 qen e s 21oaan25%| WF YIS it 3
/
1 Hiferg

Find a quadratic:polynomial, the sum and product of whose zeroes are 210 and 25 respectively. Hence
e — e —_ 5
find the zeroes. »

X T~ U0 x2S
A% ER 7 Fifse o (1 1 7 Yaes wfieo g - 3
3x-y=7
2x + 5y+1=0

6l

() UF 3R & 0 7
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(i) TR

Determine graphically whether the following pair of linear equations
Ix-y=7

2x + 5y+1=0

has

(1) a unique solution,

(1) infinitely many solutions or

(ili)  no solution

b

15 AABC ¥, §[l1 AC &1 He3-fag x%mﬁ:xw@%,a?fa@aﬁﬁmﬁﬁngABmm-ﬁq%n 3

In AABC, X is middle point of AC. If XY// AB, then prove that Y is middle point of AB.

' Sm— -

e AT e

16 feu ¢ f93 F AABD ~ APQS € S&f® AD 317 PS afg mifizenid & 1 fag #ifsw i AABC ~ APOR 3
gl
A
P.
B D Cc @ S *R

In the given figure AABD ~ APQS when AD and PS are medians Prove that AABC ~ APQR.

A
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17 Il sinA+ cosA = V2 cosA &, Tl cotA &1 0 F1d Hifer | CN 3
If sinA+ cos% J2 cosA, find the value of cotA. ¢ | = f =
18 Tag sifee fa .
. o
sin u:;... 2sin” u = tan u
2 cos” U.-COos u
Prove that :
= . . 3
smu;-2sm u S s
2 cos” u.cosu
Fi
19 s faaeEa & 81 IX & ¥4 & wR f1 Faiara 97 ¥ e e § [ W Lo
r —j)J y
R (kg fn 7 35-40 | 40-45 | 45-50 | 50355 | 55-60 | 60-65 | 65-70
2
fomfear =12 9 15 25 12 6 1.
g =@ )
IRET 3TEel 4 T 'd F9 & THR'' & @ifeu |
Weights of Class IX students of a school are given in the following frequency distribution : //
Weights : 35-40 | 40-45 45~50 50-55 | 55-60 h 60-65 | 65-70 /
(in kg) //
Number of | 2 9 15 25 12 6 1 /
students f
Draw a ‘less than type’ ogive for the above data.
20 A = arolt &, 40 wRA T WsRAl <X 2uiE 7§ - 3
WA R (%H) 3040 |40-50 |5060 |6070 |70-80 | 80-90 z
Vel I H Al 6 7 10 6 8 3
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22

23
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The following table gives the literacy rate of 40 cities :
Literacy rate (in %) | 3040 | 40-50 }50-60 \ 60-70 | 70-80 | 80-90
Number of cities 6 v 10 6 8 3
Find the modal literacy rate. . e 3 o 21)

WUS-T / SECTION-D -
YR EH M2 AN T IAF D 437F 51 ‘ _ =
Question numbers 21 to 31 carry four marks each. o 7/ ;: @

< WhR & 1S i HMeheid AW 24 3R 15 F e & I A 3qeiZy &1 afe g9 S woR &
Thele TR F A H o 8, O 9 5 T FH TIF YR & feZa6f 1 § a1 91 Sifeg, a‘rﬁgs‘{
T B |

Two brands of chocolates are availabie in pack oszL__erd 15 respectively. If I need to buy an
equal number of chocolates of both kinds, what is the least-number of boxes of each kind I

7,5 478
A A H Al F A T W F g F ¥ 20 5 @ o, o @ ¥ AW & 6w 21 Az I 4
T @H G A5 @ s, @ 51 & 2w & S 81§ 9 9| st

would need to buy ?

If from twice the greater of two numbers, 20 is subtracted, the result is the other number. If
from twice the smaller number, 5 is subtractéd, the resutt is thé greater number Find the 1

numbers. : ) ‘LJ{; -——&é y :

a3 22 - 2 9ETR 3t + 323 - 14x2+ px+ q HT qoiqal Fanifee 2l & @t p a9 q 1 o1 74 <

If a polynomial 3x*+ 3x3- 14x2+ px+ q is exactly divisible by 3x2- 2, then find the value of p
and q.

T ¥ T fnffd # geEr F fau go w3 oW Pl femn A 4
8 forenelf &4 &Id, df v foeneff &t % 10 21fuss fae | afs 16 faendt sifte 89, Ty I s

ot




10 %7 faera 1 foeneffar &1 § U= ® iR weldss 1 foaw wue fyet ? e fanat wemif &fet w82
T el & foau s9u 27 & fog form ono 9 3f@ g2
Rani decided to distribute some amount to poor students for their books. If there are 8

students less, everyone will get * 10 more. If there are 16 students more everyone will get " 10

less. What is the number of students and how much does each get ? What is the total amount

distributed ? —
What is the reason that motivated Rani to distribute money for books ? ?6
25 fog wifsw e us gueio By § wof & af 9 3 ysieit & ot & 4 & SRR aal g 4

Prove that in a right triangle, the square of the hypotenuse is equal to the sum of the squares
of the other two sides.

AABC, &I B R §H&IV €1 A 3iR C & wifegsd AD 3R CE @il € § 13 AC=5cm, AD= 4
3 et e it

A {
* SR

E

. 3/ Dy 4

AABC is right angled at B. AD and CE are the two medians drawn from A and C respectively.

35

If AC=5cm, AD= =g find the length of CE.

s (-'. Z
27 afRv=30 & A f1 e S wefE R 6
(i) cos 3v = 4 cos3v - 3 cosv 3\
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(ii) sin 3u = 3sinu- 4sin3u
&

If v= 30, verify the following :

(i) cos 3v = 4 cos3u - 3 cosv

(ii) sin 3u = 3sinv - 4sin3y

SET A

28 A< Isinv + mcosv+ n= 03 /' sinv+ m'cosv+n' = 08, ar fag FIT & (mn' - m'n)2 + (nl'—

In2=(Im'- I'm)28|

If I'sinb+mcosu+n= 0and/ sinu+ m'cosy +n' = 0, then prove that (mn'-m'n)2 + (n/"-/n')2 = (1

m-I'm?2 =

29 (i) g secu - tanv = x ¥, o g3y fom
- 1 .11 )9'
Secv = 2[:-1 x]@‘(tanu Z(I__x)

(ii) g secu + tanv = x &, a7 quifsu fa

secu = L [x-f lJ R tanu = l(x e —1-) 7
v x 2

x
(i) If secu - tanu = x, show that :
secy = l [x—L I] and tanv = l (l -~ x]
2 X 2\ x
—— —
(ii) If secu + tan v = x, then show that :
secu = 1 [x : 1] and tanv = l(r - -1—]
2 X 2\ &
— -/

30 ﬁmﬁmﬁwmanmm
(@ @ IHERd (b) 3 AHST F AEFH
FeH GHAl Fl | FEH gHEAT @l
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() q 3
0-10 12
10- 20 18
20-30 27
30 - 40 p
40-50 17
50 - 60 6

The following data is md (a) the missing frequency (b) the median of the series.

j Profit of Retail | Number of
: shop (in ") Retail shops (f)
L
0-10 12
- 10-20 18
20-30 27
* 30- 40 P
| 40-50 17
50 - 60 6

31 W@Wﬁww%mﬁ%m@ﬁﬁmmmaﬁﬁmmﬁ:

200- | 400- |600- |800- |[1000- [1200-

' -2
aﬁ@#(_ L 200 1 400 | 600 800 1000 |1200 | 1400

faafdar #t g @1 |33 74 170 |88 76 44 25

y;
SRIT sATewet & e e wreaes [ S

Pocket expenses of the students of a class in a college are shown in the following frequency
distribution :

t
Pocket expenses 200- [400- |600- |800- |1000- 1200-

2
T 400 600 800 1000 | 1200 | 1400

(in’)

Namishir of | 33 74 170 88 76 44 25
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